SERA | |sEkB | |sBkBIR SHERD
o I | 4 o | | U IO, 4R
ol s e (s 16| 3| |#RHF SRR (PSR (#E44
1| ofm |zEe | | 1 2z |EmiE | | 17| sl |[EwrE IR ENCEE
o| o [zra | | 2| e |mms | | 18] s|m |Ems o olm |mmm
3] 1T (e | | 3| 42 [wwmes | | 19| 2oF |mmm 3| 2T |wEs
al a7 oz | | 4] AT [mEme | | 20| sz |ms= 4 6| |2EH
5| 2|z |m:m | | 5| sz [mE® | | 21| 3|z |mEx S ENEE
6| 1m |2 | | s 1z |mms | | 22| 22 |mzz 6| 2|m |®zx%
71 2z [wesm | | 7| ale |Ees | | 23] s|m |aws 7| sl |mEw
8] 1= |#mm | | 8 3= |[BEE 24 3|lm |#EE 8| 4T |mF
of 1 [wmEL | | o 1 |=Em 25| s|®@ |wEm of 3= |BEE
0] 1® |m@mE | | 10 12 |HmB 26| 1|m |TwE 10 5|z |BBHEE
1| 2l (s | | wu| 12 |maE 2711 4z |mmm 1l 3z |=mE
12 1w =2 | | 12| im |mas 28| 3|T |z 12| aAm |mEy
13 22 [=mE | | 18] 1@ |ams 20| 5|z |missE 13 3lE |zmE®m
14 2|2 |mrmz | | 14 4z |wxm 30| 1|z |#w L E N EE s
15| 2|m s | | 15| 4|z |z=mm 31| sl [muss 15| 6|7 |3==
G 32| 1P [BEFR (B4
16| 2|@ |=x1 HERC 33| s|x |@E® R = EES:
BE
4 I D 4R Z& Y 34 3|7 [mMzm 17|  3|"  [BREESD
18] 2| |BRIB 1] 3% |BEIEE 35 4|7 |EBHFN 18| 3| [BPiEEE
19 17T |EEE 2| 5| |FIER 36 19| 3|F [EPiEE
20 2| |FMRIEE 3l 4T [Z@mE 37 20| 3|= |EEF
21 11X |BEEZ% A I Ty 38] 4R |EEH
2| |EgE 5| 3|7 |miE= 39| 5| |ZzE EXiti]
s |zse 6 5T |mmm s am |mEm | [Pl ws
7] 2|k |BEIBEE 411  4|I%  |E=FE 1] 5|2 [EFE=
gl 2|2 [HHEZE 2 2|7 |EZE&E 2| 5|2 [Z=EH
9 1T |=EE 43 1|X |EEX 3| 4T |=&Es
10| 3|2 |8 44 4T |EMEE 4 6| |MEE
11| 3|4 |[HEE 451 3|2 |EK&IE 5/ 6| |3BED
12) 1T |iRiEeE 46| 4l |E=HE 6] 5|7 [BNE
13| 2[R |EFEXIE 471 6| |ILEBEE 7] 5|2 |[B@EHK
14| 5|8 |Ei18F 48| 1|7 |RiEE 8| 4|7 |&&Eh
15| 1R |EiE#E 49 6|R |ELE 9] 5|xE [BM=
50 3|= 15 R 10 5|2 B
51 3|z |gAT 11| sl2  |ge
12l 3@ |#Es




SHIEC HIEA RERA HlHa
o A i o P e 5
e G e SEAR | DR |14 SEAR | DEAR |14
1 3P [Hm= 1 5|2 |BB1EE) 1 47X |BEE 1 4" |EFEH
2l 2| |EER 2| 5|2 |EEE 2l 5|2 |[EE@E 2| 4|2 [#EmE=E
3l 2|7 |E&EH 3l 42 Pihrs 3| 4" [BRZEEE 3l 3% [HES
4 2% |EnE 4 5|7 [EGE 4 6l  |HEHER 4 1|2 |BRITHE
5/ 1R |EEF 5| 5[R [EWRE 5| 3| [&E¥ 5| 4R [=EE
6| 1{/% |MRBE 6| 4R |=EE 6] 22 |[FEE®
P =2EE (
7| olm | 7| elm |mEx AIKB 7|l |meEm)
s 3|z |mrs s slm |weEm W v o | e | 2, s oln |mmE
ol 2|2 |EEE 9] 6= [HE#HEK 1 1R |&PR 9] 3|4 [|E'E8RA
10| 3|2 |ZBBE 10| 5|2 |#MFEE 2l 2|8 [EDE 100 1|12 [HEEF
11| 2|2 | #*ErgR 11| 5= |Z=@mE 3l 2|7 [EFH 11 1T |=R2
12| 2[R |BES 12| 5|20 |EEH 4 3k |[#EHR 12 2|7 [3B&EE
13| 3= |BEFER= 13| 5|2 |EEH 5] 2|2 |[BAKE 13| 3|E [BEZF
14| 1R |24 14| 41X |BER 6] 3|7 [BREIE 14 1|0 [BXRE
15[ 2|/ |MFERR 15| 5|F |Z2FIE 71 3| [MEF PRVED
(i fB< it 8| 2l |mmr | Y ealme les
16 4l |BRES 9l 3| [HES 1] 17T [Er=
17| 3|z |ZprrsE HAED 100 1|& |EBX 2l 1|z |o=EE
o e e N .
18| 3|= |B::EH R | 11 2|k |FEREE 3 1R |EinE
19| 3|/X [=#HH 1| 2|2 |E=3=E 12| 3|7 |®REE 4 3|E |BERE
20| 3|2 |MEXR 2l 2|2 |["FM 13| 3|E |[BwWE 51 1l |BXRZE
21 2|®m [ERE DA EESS T 6l 1T |k
22| 22 [nEm ol o7 |zew | ["Elegls sy 7| e |miie
23| 3|2 |FBE=E 5] 2|2 |ERF 1 2|2 |ZEF gl 1T [|&EH
24 2| |E=WE 6| 2|7 [HA=E 2l 12 [ZBE 9l 2% [MFER
25| 2|k |MFERR 71 2| |RGE 3l 2% [MFER 10| 3|R" [S=E5h
26| 1|2 |ER&EE 8| 1" [BRDLEX 4 2[R |MEE 11 1|2 [3pEH#
271 1|z |BE&ER of 1|2 |Em# 5| 1|F [:BxE =Nl
28| o |mEm 0| 3ln |mn 6ol 1z lmies | " palme les
29| 2|T |ZFEFE& 11| 2|B |FEWE 71 2|R [EFH 1| 4|2 |BXRF
30 4T |BEEE 12| 2|7 |EFH 8| 1|F |=iEkE 2| 3|F |[EZE
31| 2|2 R 13| 1|2 |BERZE 9ol 1|2 [EE7H 3] 3|E [EAF
32| 2|" |=FERE 10 1| [EE1E 4  3[x= |BiEH
33| 3|7 |mET HAEC (B4 11] 1|@m  |==Em
34 1T |[BES 41 1% 24 12| 2|2 |EiRE
35 3|k |#EH 42| 2|2 |E@mE 13| 2[R [ZiEsE]
36| 4% |BEEH 43| 3|2 |B)8In
371 2|R |EFH 44 1|R MR
38| 1k |EEX 45 3|7 |BmEER®
39 4|7 |=EH 46| 2|R |BERIEZR
40| 2|7 [E=H 471 3|R |=E%sh




g il PIEEK BETRA LELERRTRA
W) e e | [ | salmeles | | salme e | | | seliales
1| 2z |EFE& 1| 4= |#AERES 1 51T |[REHE 1| 5|2 |MFEE
2| 4B |ZEE 2| 4k | FEFE 2 3| [MEB# 2| 3B [z
3] 5|k |E@EE 3| 4F |[EFH 3 3|12 |ER@mE 3| 5|" |ELiER
4 12 |EFE 4 5|8 |EBUE 4 6|F |[EEMm 4 4= |REE
5] 3|F |Fg= 5| 4|/% |PBR@EH 5 5|/%  |AEREEE) 5| 5|2 |EBHE)
6| 17T [Z=&i 6| 3|7 |FRIEE 6 51 [FBER 6| 6|" (==
71 2|k [MTFR 71 elIX |58 7 JEEE-S 71 6l |[HMUE
8| 4| [MEXR 8| 5|F |EBXR 8 31 |AmEH 8] 5|k [REXR=E
9 1 |REZE 9| 4|F |BEFH 9 9| 3|E (BB
10| 2|8 [R#EEE 10| 3|A |iEdEsk 10 10| 5|8 [ZPEE
11| 6|4 |[EmNts 11| 3R |HBE 11 11| 4|2 [BR{EE
12|  3[= |MRIEE 12| 52 |E&H 12 12[  5|/% [BEEZE
13| 4|F |BE=E 13 4T | 13[ 5|7 [BRIEE
14| 5|2 |(BR&EH 14| 6= |TEiE E2EKB 14| 6T |=FMH
15| 5|2 |ERATE 15 4|7 |[E== ok | EAR|BRAR |HES 15| 5|7 |=8%
16| 4|7 |=E#% {1 1 4R | ETEH 16| 4% |5
17 N ESE NN 16 2 4= |REZE 17 52 [BEE#H
18]  4|E  [ERY 17) 4= |#=R 3 47T PrFI 18]  4|/X |[EEES
19|  4|E |E@miT 18] 5|E |#M= 4 5|7, |MFiE 19] 6|" [BLF
19] 4|2 |ZF3E5E 5 3|3 | #MERwE 20 6| |FEmE
20 3|7 |BEIRSF 6 5|2  |ER1EE) 21 3|E [BEZE
21 6]%= |BEZR 7 5| |BEFH
RLELIE; 22 ez [mE@m 8 oz [mEm | |
| e e 25 3@ |mEe of oln |mm=
1 47T |ExB 24|  4|F |[BEUE 10 6|12 |5FE FHTE
o sz |mmmE|| 28| 4 |Fme 1| AT |mEwm | P | el les
3] 3|k |=#EE 26| 5|1 [MBEE 12 6% |5 1| 4T [Him&E
4 2% MFR 27| 4T [F=H 13 5|  [EEXR 2| 2l [E®X
5| 3|1 |MEH 28| 5|2 |EEE 14 4T (== 3| 3R |[AFEE
6] 5|2 |[BiE& 29| 4| |=BES 15 5|1, |BER 4 B5|F |REMH
71 3l [FEE 300 4T |=Ew 16 S B IEE 5| 4| [HEFR
8l 6l |BNig 31 6| |MEE 6] 3|2 [HEX
ol 2|7 |BRfmE 32 4k |EERE 7] 4R [5ERIE
100 3= |BExE=E 33 2|7 |BRfER UBAEFEERB 8| 4|2 [#Hm=E
11 4% |ERERE 34| 3|z |EWE W | FR(PIR | EE 9| 4|2 [FHEER
12 4T |=20E 35| 5|2 [|@®ElA 1 5| |EBUE 10l 3[F |EEAAle
13|  3[x= |[BXRF 36| 1T |BHF 2 S ER 11| 3l |EF4E
14| 1T |RiEes 371 3|%F |EBEl4Mm 3 5| T  |[REHE 12| 4= |BImE
15| 5[ |@®ElN 4 S ET 13| 3[xE |BXRF
16| 1|2 |2#tx 5 5B |3RE 14| 1T |Feset
17| 3|z (2= 6| 3T |mm L ENEE
18|  6|x (298 B EETER 16| 3|z [==gE |
19| 3|z |[2zm 8| 5P |2Em 17 6|z [=29m |
of s|®m [maEs 18| 5|7 [mmm |




ZEFEA ZEHIB ZERC &z fit

Z o, Z o Z o, o o,

W) el e | P | eelmeles | | ealme lge | 5 el |es
1 1l |Ems 1 3|k |EAT 1 1R |F1ES 1 1R |EEF
2 2012 |BEAI=E 2 Q0% |ZEneE 2 A S 2 2|7 |BEEE
3 212 |th&m 3 2|%  |BEIEEE 3 1|2 |BERIT# 3 1|2 |ERF
4 2l |BARE 41 4|1 | EEFH 4 1T |EFER 4]  2|" |MELFE
5 202 |&8FE 5 2l |ARR 5 2|%  |BEEIE 5 KECES
6 2l | =mE 6 2|2 |RATEE 6 2| T |EEZE 6 21 | MFERE
7 18 4002 71 2|®m |BBE 7 2l [aER 71 2|k |MER
8 7l I b = 8l 4l |EmWIE 8 2|8 [#REFE 8| 2|T |[wAr=E
9 21k |EER of 2|2 |=Em 9 212 | =Em of 4T [nFm

10 2%  |FE=H 10| 4|1 |=TH 10 1T  |ERmiE 10 2|8 |BElERE
11 2|58 [HBUR 11 <] I E=E g 11 1T |EZSR 11 3|7 | =RBE
12 1|2 |[T=E 12 2l |EEE 12 1|2 | 12 2| |BERE
13 1T |SadHe 13 3k |EE 13 1 |ERE=EE 13|  4|" |BRZTH
14 02 | ZEEF 14 3= |=H=E 14 1A |EREF 14| 2|8 |37 E
15 2l |#Bmm=s 15 3T |BERRIE 15 18R |E=FR 15 3= |BKES
16 1R Bk 16| 4| |EEsE 16 11X |[BFE 16| 2| |T&mE
BRPRES
17 MRS 17 3|l |&HHZE 17 112, |BEEE 17 3|7 |®RIE=Z
18 A 0 18 3|2 |FERTERE 18 112 |Z=FE 18 3| | MEFE
19 11T | ER=E 19| 2|&" |E=XB 19 A ES S 19 1|E [MEF
20 212 | KmEE 20  4|%  |EEWOR 20 112 |FERiEEe 20| 3|2 |ERE
(A (B4 {EFH {EHH
21 21T |[Z=mak 21 5T |BEY I 21 21
22 1R |BErE 22 22
24 M ES S 23 1A | MEF 23
25 2|2, |=tEh 1|18 |[Fas 24|  4|m  |8EPIEL
26 1R |{UEF 25| 2|7 |BEmE
27 11T |EHH 26| 4l |EHE
28 1lR |8k 27| 2| |HEEE
28| 1|2 |EMPE)
29| 2|2 |EERLE




